SET -1
uggl — Il / PART -1l
sreurailwsv / BOTANY
Guevplewsy — wgevmd gy er® / HIGHER SECONDARY (FIRST YEAR)
(501 wHmId gy mislev eurfl / Tamil & English Version)

Gmrip: 2:30 wewfl ] [ Qwrss wHliCuewrser: 70

Time allowed: 2:30 Hours ] [ Maximum Marks : 70

g fleyswrser: (1) oemearsg allarmésepd Flwrs USleurd 2 6TOTSHT 6T6ITLIS DT
FfluTiggis CaTeraray. YFHLILSaled GmpuilBliler oemss
HETHTeflLILTeTflLLD 2 L eTiguwirss s flaildsseLb.

(2) Povib evevg Sy ewwullewer WL BGEWL  TUPSHIUSD & LD
995C8HsTIyHeusHGL  LweaTUBSS  Seusssr(HLb. LIL_BI&6iT
UMIausSM @ OLTHD LIWeTLRSDH6LD.

Instrucitons: (1) Check the question paper for fairness of printing. If there is any
lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

the diagrams.

ifley -1/ SECTION - |
15x1 =15
Goliy: (i) oewerdg allarTdsehd @ allenL wefldsaeayLb.
(i) Qasr@ssiiul L. prerE oL seafllsd Wasey  eMHLeDL W
allenL_uilswerrs GCaibOsHSSH GHOUTL (BT  allewL_uileweru)b
Coiigg) TS| LD.
Note: (i)  Answer all the questions.
(i) Choose the most suitable answer from the given four
alternatives and write the option code and the corresponding
answer.

[BwLiys [ Turn over ]



“FHHE g T GBI 2 (HeUTEHHHIn 1qul G Tiiidd Tresf]

(o) ewswCarrumrdieflur (<) ew&sCasrilerTeivwm
(®) 24519 CerrTemLoF L 61V () Lehmes6T

Causal organism for “sandal spike” is

(a) Cyanobacteria (b) Mycoplasma

(c) Actinomycetes (d) Fungi

ursdieflu CFsd Glougdgl coLiT@sHemear GleuafllGuwmmieug sTeuaiemH
FPHFWTEHLD?

(o) pewm wigw CHPL L& 2 uilfl eurpbenasd Fpmd

(=) efflunopm aripHs

(®)) efflwpsirer grpmd

(FF) @)rilewi wigw CasLFL o uilfl euripbensd Fipmd

If bacterial cell breaks down and liberate phages, what type of cycle it is?

(a) Haplontic cycle (b) Lysogenic cycle
(c) Lytic cycle (d) Diplontic cycle
BLFSIT aulg6u enFeVLD OlaTewTL 61VLe 6D

(o) 213 Bevrm VL6V (<) NardGL eI 6D
(®) 9514 Cwir eLeev (FF) QILTEHCLT 61VI1e6D

Stele with star shaped xylem is

(a) Actinostele (b) Plectostele

(c) Dictyostele (d) Atactostele

00GUGLIF &HIDLI 6TERTOl6WTIIS HTeuTLD

(o) BCrriLGevflwur merafwr () rTdhdlev swanGumredwmr
(®) QuriiGsiflwr tNerCer_Lm  (/F) o), LoHMID ()

Oil plant of Fabaceae is

(a) Crotalaria juncea (b) Arachis hypogea

(c) Pongamia pinnata (dband c

CUTHHSTSH @) ewenTenuid Csihos5(®

(o) Fr2dl Crmlwr - GamL 14 GrmesLilevsd]

(=) svres evres - WPFADDleW6V | BIHBS T L1 66V
(®) ClCsmesfiuwir - spaflFri uraisnsy 9emLoey

(FF)  yevLoTeRITLIT - cpaileney 9HdBHemLo6y



Select the mismatch pair

(a) Sagittaria - Heterophylly

(b) Lablab - Trifoliolate

(c) Begonia - Leaf Mosaic

(d) Allamanaa - Ternate Phyllotaxy
Gleudserdlevevif] ) LpemLoey 618 & (HLDLIG ST LIWSTLIT (& LD.
(o)) SCUGLA (=) @psor Grd

(®) QFrevrGesrd (%) NrmerdlsCasd
Vexillary aestivation is characteristic of the family

(a) Fabaceae (b) Asteraceae
(c) Solanaceae (d) Brassicaceae

() 2_6WTEWLDI> I 6VT]WITEIT S

(o) wevleir @GevaLiens L RELW sueTidduydmi o evflwim@d

(=) wevifleir @evsLliemu LHMID LsLeOleuL L 1D sueTidAuybmi o evflwim@Ld

(®)) wevilssr @evaLienL, LeVedleul L b HMILD LdbSHeTLD euariddlujmmi

AT e

(FF) evifleir eW6aTdh G| 9 (Dd & EHLD euaridFduyHmi &evflwim@Lb

A true fruit is the one where

a) Only ovary of the flower develops into fruit

b) Ovary and calyx of the flower develops into fruit

c) Ovary, calyx and thalamus of the flower develops into fruit

d) All floral whorls of the flower develops into fruit

LT TeoCUTEL &6 T-6L_63T GG ML ILjewL g

(@1) wepswamer (<) urdlser

(®) Q&Ted Freurmiser () urdieNuwinkigser

Morphotaxa related to

(a) Fungi (b) Algae

(c) Fossil (d) Bacteria

Qewewihs @B HVs  @ewevdssit, GVl L @FGVsLewL, @)®H  @eVB
ODMEEHL_6T FTUIUTET (HMIHGHIFUT GIHTERTL FH6VHELIewL 6% Ty (HLILIG
6TH 60T LIGTLIT&HLD?

(&) i Grm wHmid Cagrrsrsean (o)) Casrrearsa wpHmib Fsisrev

(®) Asrdlsorarv wI_[B)b (FF) " @ym wl_Hib

Bicarpellary, syncarpous, superior, bilocular ovary with oblique septum is the

characteristic feature of



10.

11.

12,

13.

(a) Datura and Catharanthus (b) Catharanthus and Ricinus

(c) Ricinus alone (d) Datura alone

ephailensd Hraurbisaflsy pmenm wigw &CrTrGLrGFTibsefleT sTevwTeamntldHenss
14. QsmiemLw  Hmayet SHaalsy sTevTlLBL  &ECrTGrEGFmids siflsir
6T630T 63011 > 69 &

(@) 7 (=) 14 (@) 42 () 28

The haploid number of chromosomes for an Angiosperm is 14. The number
of chromosome in its endosperm would be

(a7 (b) 14 (c) 42 (d) 28

LlewsTeunTsn) Hi6wTGevTmddslulled LilsiTouheustToummier 6Th% CoudlliGlLIm (e Loledr

201 (H(HEUTSH &H6TEW LD UM LG

(1) wevmigwid (=) Cousirer]

(®) sriwlwib (FF) HAedda medT

Which of the following electron opaque chemical used in electron microscope
(a) Palladium (b) Silver

(c) Cadminum (d) Silicon

80S enrGurGaribseaflsy 2 siter RNA cpsvdam misaflsit sTevtretldenas

(o) 1 (24) 2 (@) 3 () 4
Number of RNA molecule present in 80S ribosomes is
(a) 1 (b) 2 (c)3 (d) 4

GeTmev LiGLILNeT LilstTouhid Blewsvsemer Fiflwmest pewmuilsd suflewFliLi(hGgl.
() GnssHT wrHpi>

(i) Hermriadlev

(iii) SWTeVLTESB6T (LpLg6MmIsHeL

(iv) BluyseflGumsvsivy wemmaH6v

(o) i, i, iii. iv (<) i, iii, iv, i

(@) i, i, iv, iii (FF) i, 1, iii, v

Arrange the following events of meiosis in correct sequence.
(i) Crossing over

(i) Synapsis

(iif) Terminalisation of chiasmata

(iv) Disappearance of nucleolus

(@) i, ii, iii. iv (b) i, iii, iv, i

(c) i, i, iv, iii (d) i, i, iii, iv



14.

15.

16.

DNA-ailsit spp Ligglullsv 120 g emevresr wmmud 120 ena CLrHler sHmrymiser
2 siterenr.  Guspib @@ sluiley srewriiu@ 6wrdHs BlupsallGuwTen L (hHobsr
6T B W 6VT ¢

() 120 (=) 240 (®) 60 () 480

A segment of DNA has 120 adenine and 120 cytosine bases. The total
number of nucleotides in the segment is

(a) 120 (b) 240 (c) 60 (d) 480
CBTEEemar QUIT(hbgI H1PHTEYILD 6Thdn HM| 2 63TeHLD?

() LG eTetTEMFLD = CamrGeur sTeTewFLD + @)ewewst GBI
(=) CGammevr eTeiTemaFLd = LIBUT sTedTen&FID + @) emewt GBI

(®) @)ewewnt QBT = YLGUT sTesTem&Fid + CanTGeVT 6TEOTEWFLD
(FF) GammrGevr sTeiTemFLD = B)ewewt GBpTH + 9LIGUIT 6TedTEMFLD

With reference to enzyme, which of the following is true?

(a) Apoenzyme = Holoenzyme + Coenzyme
(b) Holoenzyme = Apoenzyme + Coenzyme
(c) Coenzyme = Apoenzyme + Holoenzyme
(d) Holoenzyme = Coenzyme + Apoenzyme

ifley — 11 / SECTION - Il

6x2 =12
sTewauGuisnb ym  allermesendsd 30 uTiSmasEndh@  LOETLOEY
aflewL_wefldseayid. ellerr stawr. 22 —M@ sewrgliurs allenL_wefldEseayLb.
Answer any six of the following not exceeding 30 words. Question No. 22 is
compulsory.
FDMIFGe0lev 19upl 19 Crrewwd 1 sHeflesr LIBIG wrTg?
What role do deuteromycetes play in the environment?

17. Casrraier @eTlI6LI(hEs LUTHBIGMET UMDTHE! & LPEETENID LIL GEHemest L THs]

O F15.

Complete the following diagram by drawing reproductive parts of Chara.

5 = |ﬂ"“’r
Fi




18.

19.

20.

21.

22.

23.

24.

LTV &6 6TeualH1D CLODLITL eWL_b% STeurBISeflsT suariFHls @ 2 saslng?
How do mosses promote the growth of higher plants?

wrGareoGurrrallear Gaurser blevsBled(Hhgl GCOCBTHE  suaTTeUSHMDSET6T
ST TEWTLD 6T6IT6UT 2

Why does the roots of Rhizophora come out of the ground?

fAnG eugeuds Il 1gWVEGD MHMID HBIHS 6UIGeUS  In L LgEM6VE G LD
TCHWILD p(h 2 _HTTenTLd ST (.

Give one example each of pinnately compound and palmately compound leaf.
F1PEHEBMTL LI BISEH & MW evTeumiiLim’_enL & st L.

@)HUTEL VT, QRPUBIGTET, MbHBIS, Sellds Lsvedlsul L 1D  HMILD
9JsVedleul L 1b, GeVl L GGevsLliewL, LaugsF OlFSleienL_wenel, LL&aHTIDL|F
ClFFlevHmene.

Find out the floral formula for bisexual flower with bract, regular,
pentamerous, distinct calyx and corolla, superior ovary without bracteole.
suemsLuriiguwesd  ugliley  sreurmisefler suswsLLTL 1quiene)  sTaflsTss
SNHUSNHE 2 HaLb uenSLILTL (B &[Hai 617

Which taxonomical aid serve as quick referral system of living plants in
taxonomical studies?

Qarhssiiul L yplalwsv Cuwfer Guflerd wHmid AHplerts Cuwisemerd

HTL_Mbgl 6T(LSHIS
1) LOIT 5 F00GILITIT (Z)6v0TIg 51T

2) ClFTeVTedTLD 19 Uyt IGTTFLD
Identify the generic and specific epithet name of given scientific name.
1) Managifera indica
2) Solanum tuberosum
OlFev FpmAuller Hewwd Blewsvuilsy GlFsLeVId@GeT sTHhalls GlFweLLITH LD
BlBLPEUBlVEME  6TTM| & (HBEVTLOT ? 2 aTgl allewLenl  6THIBIGTLD
BlwrTwiit®dbgieum?
Does resting phase of the cell cycle signify that there is no activity going
inside the cell? Justify your answer.
fley — 111 / SECTION - I
6x3 = 18
sTewauGuignlb ym  allermdsendsd 45 auTiSmssEndh@ ST

aflewL_weflssey. eflerr stewsr. 27 —H @ ey LiLTe aflewL_wefléEseayib.



25.

206.

27.

28.

29.

30.

31.

Answer any six of the following not exceeding 45 words. Question No. 27 is
compulsory.

LyehemFsemer Heafllt GlumbUfleurs sweuliugm@ 6TLILIGRTLSET &HTTeRTLOTS
SIWLOSIMGI 6TTM| &(HGIH MTiia?

Which characteristics were considered while placing fungi in a separate
kingdom?

2 (HWETSHIPBIGLD  WreueTenld FlPBIGL  Blevdsguled  HFlsliLgwireT
STFSMGF CFLIGHIGTMET. BHTLD 2 (HEDETEHEPBIHS HEWTIG6T 2 (HLOTHMLD
6TTQYLD, LoTeueTerlGElpmiens Geuflesr o (HLTHMID 6TOTMID & (HSHIS EMTLD.
6TedT?

Potato and Tapioca store starch rich food in underground tubers. We
consider potato as stem modification and tapioca as root modification. Why?

& LDEH TEMTLISH U EH &) HEWVFOFTEVVTHHLD &(Hb.

(i) 20 GoriCuessssarow DD WsTHSSSTT

(ii) L&HTHSBISHET (h O1HTHHTH (J)ewwTHBHI

(i)  wasrbssEsdL 9L L igullhssev

Give the technical terms for the following:

i) A sterile stamen

i) Stamens are united in one bunch

iii) Stamens are attached to the petals

FHPEHBTEYILD LIGHIEEHESTET 6T(HSHIHBTL DL 6T(LPFI%.

PG SPOD, @B SPOD, UL SHOD  WSTHSSSTETHEBSSTHT Qi
THSHIHHTL(H S(H%5.

Give each one example of plants with monoadelphous, diadelphous, and
polyadelphous stamens found respectively.

OlLellCuwF  GHIUSSHIOHT ETHSSSTHT QUL L GMH  HWEVFOIFTMHEHETT6V
allerd & s.

Describe the androecium of Liliaceae member by using technical terms..

LI+ 6135 60311 5 & eV 61T 61T MGUTGFTibs E1hd & LD, ewal_GLrLlerTTFsSlspisiTem
MGUTGFTibs Ehd% &L @)ewL_Cuiwjsirer sph CoumLITL ewL 6T(LPFI%.

Give one difference between ribosomes of chloroplast and cytoplasmic
ribosomes

urfseflepieirar LFBIGIESHIOT aulgaud  SevflGgleud euTibhdHg 6Tewr b
sTawTeaISIDTWT? 2 6T aflewL_eow BlwrwliLibhsgis.

Do you think shape of chloroplast is unique for algae. Justify your answer.

7



32.

33.

34.

35.

36.

CBTHl  GlwewTs SHTTawlEHmeT  CBTHHNOHHSH BHHGD CUTWSI S
sTeusuTm| GBTHH6fer allewerd GlFweSnener LT EH DG ?
When we remove co factor how could it affect the catalytic activity of

enzymes?

CriupsLi@Llisnu (gewwl L THew) allerdasliuL_gagiL et GOIiLBs.
Give diagrammatic representation of amitosis division..
ifley — IV / SECITON - IV
5x5 =10
WSS SVTTEHSEEHE LD 1O Ui HemHHEhdb @, LOEHTL6 ailew L wierdEseaLb.
Answer all the questions not exceeding 75 words.
wrisTeraflurailsr G0 L & sTeurd Fhgslemw alleTdsHe b
(Ssve051)
23ipBesrmerv©l LI Ldas 6iT LoMHMLD 94,65FCuirerv oL b 6iT allewgujemL_w
STOUTBISETT G LD. @eupPlnslen L Guiwimesr CaumiurHsemer
I L_auemenTLLI(hHSHS5I%.
Explain the gametophyte of Marchantia?
(or)
Gymnosperms and Angiosperms are seeded plants. Tabulate the
differences.
VB TeWLF L SafleiT H6vfl 2 ML) euenHHMeT LIL_SgIL 60T ailsuil.
(Ssve051)
@renTLmid Blewsvll Liswflaemert Glurmisg Ceurseaflsit auswassHemar ailars ds.
Explain the type of fruit bodies of ascomycetes with diagram
(or)
Explain the types of roots based on their secondary functions.
CabLpgglullsr o0l Gsevie) el @spemwallslinhg Coimiul @
TG SIDG. @sewer Uln @)sewivaysepL et sliilhs.
(Dsveg1)
uev Gpralseflsst Gl L CFweuT I9DE FU LTHLOV60TSH &TTewtldHsr
CapemaulILIHFSTDET. B)Hdn DeOM % TTewlHefler GlLwr HMID aIeNSHSHemear
alleuf$560 cpsvid Blwmwlibhsgls.
In China rose arrangement of sepals is different from petals. Justify your

answer in comparison with other types of arrangement.

(or)



37.

38.

‘Many enzymes require non-protein components for their efficient activity’ —

Justify the above statement by naming the components and its types.

LTl Grm Gl 6lL_edleT &1pd &ML (HeiTareummlesT LIGTL|SeDeT 6T(LHSHI%5.

I. wepeFf il. evir iii. Lysvedleut L b iV.96060leuL” L LD

V. W&THSHSTET 6ul_L 1D Vi.@evs sul L b Vii.seflssr  Viii.allewgssir
(Sjsvevg1)

weVBFTEFTLDH6IT GlFsv606tT ' % 65T 6W 6WT & & TS 6T 9| L1155 615 T6iT (61H LD

BISTEIMILIL| STEYILD T NOD HGbB LIL-SGiIL6T afleur].

Write the characteristic features of Dafura metel/ with reference to the

following
i. Inflorescence ii.Flower iii. Calyx iv.Corolla
v. Androecium vi.Gynoecium  vii.Fruits viii.Seeds

(or)
Lysosomes are known as “Suicidal bags”. Explain it with labeled diagram.
swwl L rfleme lwrFlededmibg CoumiLi(bhsss.
(Sjevevg1)
s Sewwliiler uvGeum Blewevsener allerd g s.
Differentiate between mitosis and meiosis.
(or)

Explain different levels of protein organization.



